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COMPUTER SCIENCE AND APPLICATION
( Theory )
Full Marks : 70
Time: 3 hours
The figures in the margin indicate full marks for the questions
1. Answer the following questions : 1x8=8
O PP Tog nn ‘

(a) What is a device driver?
Device driver §?

(b) Why are link-time or linker error messages displayed?
Link-time 31 linker error message 2 &% e =1 ?

(c) Why is the conditional control structure used?
Conditional control structure 5 IJ=Zq 391 = ?

(d) Name two functions that are used to generate random
numbers. :

Random numberdgz generate I AR IJAI e ’:’@1
function- = f41 |

(e) How is a function declaration different from a function
definition? '

Function declaration €% function definition _u‘lﬁ—t'w
RFSICE %3F ?
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(2)

(f) What is meant by scope?
 Scope Jfeea & 3@ 2

(g) What is the data type of elements of an array called?
Array 9bR element ™z data type-¥ & & =2

(h) How is a two-dimensional érray defined?

fR-wfas == @bt Wt define 391 28 2
2. Answer any ten questions from the following : 2x10=20
Toq [ (I wRT 2] TS o
(a) Why is analytical engine often called the pioneer
computer?
Analytical engine-3 f$% 2t pioneer computer ﬂﬁ CFEI
247

(p) How is a compiler different from an interpreter?
Compiler 9t FeI( interpreter QHro(d %S 2

(c) Convert the hexadecimal number 9F2,¢ to binary.
Hexadecimal number 9F2,¢ < (7S YT TSI 341 |

(d) State two differences between CISC and RISC
computers.

CISC o< RISC Fo{he1g=d ¥1&d 151 “N1< Sead 41 |
(e) What is the result of the following expressions, given
that a=10, b=157?
a =109F b =15 fr fcer orw IREEE Forea [ 232
(1) (a++)*(++Db) ‘
(ii) (++ a)*(++ D)
(iit) S0/ ax*b
(iv) b%a + +
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( 3)
(f) Write the uses of endl and setw().
endl WF setw( )-3 IR & | -

(g) What is syntax? What are syntax errors?

Syntax & ? Syntax @bz & %2

(h) What is meant by modular approach to programming?
What is the advantage of modular programming?

Programming-3 modular approach @il & o2
Modular programming-3 JRqi 52

(i) What are prologues? How can prologues. be given in
C++2 ‘ '

Prologuesyz B ? C++-% prologué‘-“ﬁR @AT 3 =R 2

(i) Convert the following if-else statement to a single
conditional statement :

o] if-else TfECo1 @Bl W@ conditional Sf&$ts AR 11 ¢

if (x >=200)
Yy =2z+50;
else
y=z

(k) When is a default argument value used inside a
function? When are the default values specified?

Function @br® default argument W (R TRZT 202
Default I=PHR &M specify T4 282

(). Distinguish between the following functions :
werq function 2 WER Y 7Ol

~ putchar() and / =¥ puts()
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(4)

(m) Write the output of the following program :

A9 2R FeAwe [ 3°g
#include <iostream.h>
void main()

( ‘
int a[4],i;
for (i = 0; i<4; i++)
alfi] = 5*i
for (1 = 0; i <4; it++)
cout<<a [i];
}
3. Answer any nine questions from the followmg 3x9=27

wed R 1 F01 2] Teg o

(a) Why is binary language often termed as machine
language? Why is machine language required? 2+1=3

(7S SIS AT 73 SA I 79 (TR =0 2 37 o [ e 2

(b) Define the following terms : 1x3=3
e term>TyE I F0 ¢ |

(i) cylinder
" (i) tracks

(iii) sectors

(c) Distinguish between unary, binary and ternary
operators. Give examples of C++ operators for each one

of them. 1x3=3
Unary, binary % ternary operatorszd WEs I '
Wi | 2fSC5R AT C++ operator ™z Tmzad i |
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(5)

(d) What output will the following code fragment produce

for the inputs given below? Give reasons. 1x3=3
Toq S Y9 [ FOEE i IR v T inputHRs AR ?
e wfiZ forn -

int val, res, n = 1200;

cin>>val; '

res = n+val> 1850 ? 600 : 300;

cout<<res;

(i) If the input is 1900
M input 1900 =¥

(i) If the input is 1100
T input 1100 =¥

(iii) If the input is 750
I input 750 =W

(¢) Write a C++ program to take three numbers from the
user and to find and print the largest number. 3

TR o[ FoRG = oz IR AGROLE BT WMo AR
TioriE =oIRR I 961 C++ 2a for |

() Write the guidelines that should be followed while
dealing with identifiers. . 3

Identifiersz3 #5% deal FcACe RI@ NS-Fg et F41 Tfos
oo foran o '

(g9 Why is a loop used? Define the two types of loops.
1+1+1=3

Loop bl 3% 92} 391 = ? 72 43R loop TRd ¢! 341 |
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(h)

()

G

()
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(6)

Consider the following code fragment and rewrite this
code without using break and continue. 3

Y 99 code-(o1 R@wva ¥R break =¥ continue IFII
T91F code-(Bl *[ o1 |

int line = O;

char ch;
cin >>ch;
while (ch! = ‘&)
{
cin>>ch;
if (ch = = ‘Q))
break;
if (ch! = ‘\n’)
continue;
line++;
}
Write a C++ program to calculate the factorlal of a
positive integer. : 3

LIS ST A GO factorial SEMRI A @Bl C++ 2ay o |

Write a C++ program that reads two strings and

‘appends the first string to the second. 8

Wl string “fttsl &8 string-G #%® first string-(br
append 3R GBI C++ 2y &1 |

Find and correct the errors in the following program : - 3
TET] AT A1 $ecqN [{p1 Sereqn S wa 341

#include <iostream.h >
void main( )

{

char str [20];

cout << “Enter the string:”;

gets (str);

len = strlen (str);

cout << “The length of the string is:”<<len;
}
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(7))

(1) Illustrate the use of #define in C++ to define a macro. 3
' Macro 95 define IR99 WA C++-9 #deﬁne—? BISEARE CEEl
?UWH BRI

" 4. Answer any three questions from the following : 5x3=15

g [ e fofet e Teg fo

(a) What is an integer constant? Write integer constant
forming rule of C++. Explain the three types of integer
constants allowed in C++. : 1+1+3=5
TG FIT GO [F7 C++-9 TYQ T 5104 99 g Fidn 1 C++-9
3l TR T 9 1 9 |

(b) Explain the uses of the C++ shorthands (+=, —=, *=,

/=, %-=). 1x3=5
C++ shorthand™ ¥z (+=, —=, *=, /=, %=)-T I<YFHR A
Q0 '

(c) Write the functions of the following header files : 1x5=5

o™ header file gz IR B :
(i) ctype.h

(i) math.h

(1i}) string.h

(tv) stdio.h

(v) stdlib.h

(d) Write a C++ progfani to count number of words
present in a line. S
RISIIE SR R e ‘?I‘T?HWW &1 Co+-+ oiea e |
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( 8)

(e) Define a structure variable called vehicle. Assign its
part number as “RSMO00S5”, its price as 573 and the
quantity needed as 5. Then read in the three members
for the second part. Do not assign any values to the
third part. S
Vehicle s 9Bl structure variable define 3911 2R 6
7 “RSMO005”, ¥ 573 Wi eieaeam i 5 e T
e 3911 RS 63 I @R B memberiyz read 91|
Do 63 AT @A T [iEI FRI e |

* Kk
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1. Give appropriate answer as directed : 1x12=12

ot SR 3R Tes fin

(a) “Education is the manifestation of perfection already in
man.” Who said this?

“Rirsl 277 TRI SRS R =8 oFr 1”7 FARR (A (PiRe ?

(b) Who wrote the book, ‘Emile”
‘gfiier’ sreR ol (I HfRed ?

(c) Extrovertism is the characteristic of infancy period.

( Write True or False )
fEsfirer ¢ wrer CafiEs |

(w7 (=T )
(d) In which year was the University Grants Commission
constituted?

FReaRmeR Sqe SIS (P 5T 5159 91 (fRe 2
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(2)

(e} Education has no relation to Biology.
( Write True or False )

MR Fs/e FreR @I 7o T2 |
(a (ST o)

() Write the full form of NCERT.
NCERT-R 3= bl feran |

(g9 _____ is considered as the father of Educational
Psychology.

( Fill in the blank )
Frpr-weARe= Progme & o <0 = |
( e 2R o[ )

(h) What is the other name of ‘Monitorial system’?
TR ermfs’ -7 wmee 7N & 2

(i) Name the famous educationist who laid stress on the
training of sense organ for child education.

firg FreR cFao WA TR SRS 8FQ oTH 9 RS
FrwfwerId w9 for |

() Who claimed for compulsory primary education during
the British rule in India?

sHee B PERES g Akl Frem e wR
CFICA GHIRRA 7
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(k)

()

(3)

Emotion is an agitated state of mind.
( Write True or False )

AN 2 T 9F (e HaF |

( == 1 Srm forr )

Mention one limitation of computer.

FRO[THET GOl Rme! T 41 |

2. Answer the following questions : 2x12=24
TER 2pTRd e fa

(a) Mention two objectives of pre-primary education.

(b)

(c)

(d)

C7/26

- FreE g1 S SrEy 90 |

Write two major characteristics of non-formal
education.

Ferorsifed fRrwE 101 2y cafiEy fera o

Write two differences between formal and informal
education.

HRINE W SDIE e qrere 61 o1 N1l i

Mention two major parts of a computer.

FETHRI YOI A4 SR AN SCEY 4 |

( Turn Qver )



(e)

(g)

(h)

0)

(k)

(1)

C7/26

(4)

Write two characteristics of instinct.

egfaq wo1 ¢afiEs fera o

Write two major recommendations of Wood’s
Educational Despatch of 1854. -

1854 o9 Toq - fRggs FMormmR 151 e sk feis o

Mention two differences between sensation and
perception.

I P SIS WEre 41 Y01 N1 SrEy 1 |

Write two functions of SCERT.

SCERT-3 5! ¥/ fer41 |

Write two main features of Gandhiji’s basic education.

sTrATeg g RreR o1 ege ¢alEs fa )

Write two provisions of Article 45 of the Indian
Constitution.

SReR AR 45 [ RS ¥ 61 e o o

What do you mean by conception?

Refer Jferca ofd 5 g 2

Mention two merits of habit.

SSIPR BT T SeEd 4 |
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( S)

3. Answer the following questions : 4x10=40
T 2PTRd Ted Tl

(a) What do you mean by vocational aim of education?

e fegers orw e i e ?

(b) Mention four characteristics of adolescence period.

(T Fe] GIfRo1 ¢ S 1 |

(c) Briefly write about four major functions of spinal cord.

(TSR BT adW IR Racy s o o

(d) Mention four differences between instinct and reflex
action. '

2% e 2feaS faFaR ArEe 31 BIRG! ANYF Ty T |

(e) Mention four challenges before the teachers in the
context of new social background.

Ton AR cbefie et Shpre Wik o1 BRE erer
TrEY 4 |

() Briefly discuss the role of parents and teachers in
habit formation.

TSI SoTe WoeRS W FrFed $ST T HYLF e 7 |

(g) Write four characteristics of Sarba Siksha Abhiyan.
e SfSama B0 e o
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(6)

(h) Mention four merits of cocurricular activities in a
school.

Q¥ R STR-"NOGF IR BIfkG 5Fe Sead 41 |

(i) Give the concept of child psychology and
developmental psychology as two important branches
of psychology.

YIRS Y51 @Fgeyd =1 Zoweel g JeAie= o {[om) T9am
ARSI et fua | |

(i) Mention four major problems of adolescence period.

(TR T BI04 T S 390

4. What do you mean by social aim of education? Mention
three points of differences between social and individual
aim of education. 3+3=6

e TS o Jfeice o T @2 Prem i wie aifsceie
TR Trere 31 BT <1< Sray 1 |

5. What is curriculum? Highlight four needs of curriculum.
- 2+4=6

NTEY &2 *NTFa] BIR0I AT 7S 447 |

6. Who appointed Hunter Commission? Write five major
recommendations of Hunter Commission for the
development of primary education in India. 1+5=6

TR e @ Fyfe it ? SRt arfie Frer RerR F™ed
TFOR SIS SISIACERI SCBIoT 24 ==& e | '
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(7))

Or / 311

Write a short note on the contribution of Christian
Missionaries towards the development of education and
literature in Assam. 6

SR PrE S e werece ARTW Receece SSR_eR SEavied
s s «fb 5y (ot I

7. What is educational psychology? Briefly write about the
scope of educational psychology. 1+5=6

frp-TeREe & 2 Rre-SeiRens «fReR = s B

* * &
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